*24 A boat floating in fresh water displaces water weigh-
ing 35.6 kN. (a) What is the weight of the water this boat
displaces when floating in salt water of density 1.10 X 103
kg/m?? (b) What is the difference between the volume of fresh
water displaced and the volume of salt water displaced?
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*25 An iron anchor of density 7870 kg/m?3
lighter in water than in air, (a) What is the
anchor? (b) How much does jt weigh in air?
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*29 A block of wood floats in fresh water with two-thirds of
its volume V submerged and in oil with 0.90V submerged. Find
the density of (a) the wood and (b) the oil. ssm *
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Reservoir .

*46 The intake in Fig. 14-44
has cross-sectiona] area of (.74
m? and water flow at 0.40 m/s,
At the outlet, distance p =
180 m below the intake, the
Cross-sectional area is smaller
than at the intake and the
water flows out gt 9.5 mps.
What is the pressure difference between inlet and outlet?
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**53 In Fig. 14-46, the fresh i
water behind a reservoir dam
has depth D = 15 m. A hori-
zontal pipe 4.0 cm in diameter D -
passes through the dam at
depth d = 6.0 m. A plug se-
cures the pipe opening. (a)
Find the magnitude of the fric. e
tional force between plug and Fig. 14-46 Problem 33.
pipe wall. (b) The plug is re-

moved. What water volume

exits the pipe in 3.0 h? Jiw
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**54 In Fig, 14-47, water Eoalr, i
flows through a horizontaj pipe i =
and then out into the atme- Fig. 14-47 Problem 54,
sphere at a speed vy = 15 m/s:

The diameters of the left and right sections of the pipe are 5.0
cm and 3.0 cm. (a) What volume of water flows into the at-
mosphere during a 10 min period? In the left section of the
pipe, what are (b) the speed v; and (c) the gauge pressure?
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